Soctiwn 3.8 Imp(lc(-F Differenticch o

We camn now o ffeput e j,w.d‘ about owtg Fun o t(j:)cfx)

N

ﬁ:ﬂm:%l [Hene y, Lo dn (e;q)oh'm‘) fum chon of 2

We Con 524”41 Fx).

{ %24- Lﬁl: 25 Bud WQLGJ' wbond this sifnatan 7
SF\ I—IW}érﬁuﬁdﬁxbjm
S Ggmh(/\n Xy =25, bk g 6
A jg not aw explicd Sncfionn of x.
T4 not 5o cdlear what the derivathve should be.

......... Tl’\E/LQ_ ane EO_FS b];' —pu,nc‘h(jy\'; 3:;(%)

\-} -I[ a\ catic f Jarng 2 sz - 25,
- 5 i a0 (Foa) =25,

of tha ecbuahm x1+tjl =25

/_
[
r
-
—
-
=
=
o
Ea

Todoys Goal Lean o & diffemdidle mplict fonchions

2 2 _
MOHV-’}-HD“OJ‘ Problew ~ "_‘g = & l;l??uderen\mﬁ
2 (‘F(’Z))‘L: 5 P2 hothh sides
;i;jﬁuilo%fpmhw A%; 12 4] o)
© = e & rule here
xz‘l’- z - 25 c‘(j- (?.;f\f,_{) "ﬁ X +<‘F(x)\3 ci’ktzg‘_ V\N_)
A 2= ,
%2+ le:zg X + J(kx\\ Fvy= 0 « ‘;f:*‘ ;(,):f
1% + 25 §(x) = O
— 2f(x)fx) = ~2%
: ’j:‘;(m ,
.7 FOYF(x) = -x
/ X
SR
O P U B S =
Lek ka:‘f(w) e the Answer: m={(3) = f(»> 47|49
above thlicl'Jr funchon This cess is called W

Adswer w (Il e wm=£'(3) diftereptiahon.



Frample
7(21- Ur-: /— Lg%
Fond  The 5{0{;& of the

—)—o VO CA Y,
fua c'ncm Y

Fam Ao the Cj/’-o"/’ﬂ/l ]
o F rs ezuaifm 1

fb‘_a{)owtf (I Z).

VR L B
A2+ (Fe0)) =7 % (=)

%{K_z{- (?(ﬂ\ }: %{[7-}({(%]]

[ /
yes 2SC0) Fx) = 0560 ~xF)

gx s 250x) F(x) = —H) x5
20 §lx) +x 8x) = -5(x) - 2x

t(aka +x ) = - o) -
‘ -F(x) -1X
F(x) = 2f(x) 4%

AnSwer: , ﬂ;(ﬂﬁz.(

Slope = m = F(l\:zﬁ(t)u

-7 -2
2:2 %)
o

5

I

j___ ‘Ffzﬂ The QT)UELH
S&ﬁsgﬂikj

The keY to & solvtgn is

(@ ¥7N '\W\F(-I.C\_\

= -th\ for

o~ — one

LY=L

We Seek Sr%;t\ because

e 3[°P€ will be m:"F{(‘ ).

\_\\ l///
"_W'rik ‘H'\IS—-
~ /] l\\\

V. LJjz:_/-- XY

d
zxj;-ﬂ(ﬂ 4—7{2.2: -4 - ¥

i_;}(zw X ) = -q-2x

%} I I

24+ %
A\WSwf’;\f“‘,\n B ol\ﬁ
S OE”& e [ x
(xy)=(1,

Botlh methods ma escentia\l

2)

e savne  but Thic one
s wore gtreanglined

OF Couvse o ¢ Ok
! \AS"-C&&

E

J




EYN"\{ZI@ Fand ﬂus\ol&e of e ‘am to the q(wupl/\ of
g‘m(;vta\ = coS(’le\ ok ~Uha po (?c’ +

) 4

N TN

T — W
(_I\l\_ism(ﬂ»%j = \%- - uS(““l;\ S0 pornf (7['}‘53 B om Yhe OX\o\r[«

SeluN om Fvew ‘nmauz/{,» we Aot Enorw whod e (x Y/ ﬁ.«}éej
we  comm Ma y o '_(,,,.,rel'c]-! '-,Q',VLChuvL J:JC(K) o R

w‘;ﬂ -F('?T) = }:[(" Sa *ant -'?«.b\_a_, on Cn./'f"j TL\-AIC.
That (¢ herwver Yo sz & ’3) R remuewh T

Thon 4= FCX

WW
Sinlxy ) = cos (xv) 0/975@'4 bod A cond hort 1o
Sin (x9) _ cos (x9) Simplify The egeatfion forat
Cos (< y) Cos (74

m(xj\ = | ¢

fg[{'w(o(j)] = %‘c {OI

fec'a(xa)(a]tﬁ rxj’): O~

A a/oﬂfw-) d we odse
Mﬁﬁ_ 12 was. Thae prodvct
v

¢ [~ &
3e¢2(;t&j)j + Sﬁ(,?(?(tj)X‘j/:O No w sd[{vt ‘&Ni = a:%
5 / > be carrsa & i X 9 ves
sec’(xy) xY = -sec(xy)y ws Tho sloge

Sect(x9) '3(1' = - sec(x4) Y

Sect(xy) X Secd’(xy) ¥
[j/ _y Ans usen [ l
= L Tz - /[ :-E_ - | —
X ot ﬂ&ﬂk@é) 9T

We hove oun answer, bud lets

\rau,\,& st our A:S(_U%S[:M IDY t)l/\auu\ﬂc’ /
e W‘)L of sin(xy) = cos(xy), Ee?u; /
(05 ohpve ) b») s.m\oltﬁymg e  +v

o (xy) = 1,

Fov Thig 1 be Troe we

must have xu <
e R=o021 &

/

ThUS Ij:-;lz(%-fkw)’ g0 '\'\U'- \
cy\o,f\ 18 o~ vevtical sca\tnﬁ ot \

¥ (s ™
cylap\n k.j:l;b}u{_“c’\b ot 41'\Q

‘ <\

—

1:-:,-'(2{1’ ST
z, t3 . 1




&ghm Of’abl/k Deriuc;'lves

Th The Previous QKO&W\QKQ_ W Sciwu M [ Sin(%tj): QDS(XB\
—them % = 1;.6-

Sewmettmes Yo wi\l be gsked o Fad Qe second derivad{u@

2
d ‘S . To do 'H/\\Sj JUS‘F A*”‘Q\fei\ﬁml__k The st cler“flfa\_l'f\;e

{Wl)lIC[‘L_té ‘ y = L00
2 _ v A )
A9 4 Aﬂ: &l_ug o alelr-y gk
I ;’QLM A KE
d
= ng-—%
= ___";Z_—— Be cause
) M9
L Xy "o
)(l
= R — 2"}
RE xX*

Kead tn ot Hiow implicit dffenhahon con be wmed fo
{%o\/‘(_ TZLL 'OCJL&-@« w«oec -Fuv va ol (faw-@df,

i -£—~[
d s 8
a—;[xzj- '_g—?ﬁ

Usiag LogactThms flo nowt sechion showe Yhd W holds
ey el Qowes:

%[Xrlf Y'}(rf:

Zﬁmmf(; d—f‘%[ﬁﬁl: ‘T(%‘



